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PHILOSOPHY
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Logical Rules and Fallacies (Western)
Full Marks : 20 Time : 1 Hour
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five questions: I1x5=5
@~ #Hofo dess Tex wie ¢

a) What will be the negation of self-
contradictory statement?

i A HeEy i 2

b) When is a conditional statement logically

true?
T G AFHF 54 (I EFSIE A9y &7 2

c) Use truth tree method to determine whether

the following set is consistent or not:
ey #1R Amfe &rel o3 I @ e 39y
(e efer ifosyd e ¢

A—B,A&-B

[Turn Over]

d)
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Symbolize the following sentence according

to Jeffrey:

(SIS SRR (R e ITbE Ao 0t
we:

Both Crumm and Moriarty are guilty if either

is pronounce guilty.

W G GFEIE (A AT T, OIS TN R
TG Tong @i

Distinguish between subset and proper subset.
EcaCRRIRICcREEIRETES

Letting : A = the set of all positive integers

B={3,5}
C=1{2,4}
D= {12}

find the following (any one) :

A~(CAD)
(A~C)u(A~D)

2 AF - A = HJ LN A @R

B={3,5}
C=1{2,4}
D= {12!
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g)

h)

fafResfs @i 59 (@ @IE o) ¢

A~(CAD)
(A~C)u(A~D)
Express the following sentences into set

notation :

e arefeEE @b e e 4 ¢

Planets are nine.

Planets are luminous.

4% T |
aRefe Tege |

Is the relation of inclusion symmetric? Justify
your answer.

TEE G T (5 TR 2 (O S T I
we |

2.  Answer any one question: 5x1=5

@~ aF6 A TEF 7S ¢

a)

b)

589/Phil

Use truth tree method to verify that the
following pairs are logically equivalent or not:
Aol safe dwsl Fe mae @ fasffe
AFCSIG e LS < =l ¢ 21421
1) -A-B,-B—>A

i) ASBAoB

Apply truth tree method to determine whether
the following sentences are tautologies or not:

eI oiamfe 2el F ez st e amafe
[3] [Turn Over]

FoLe) [ ol ¢
(A>(B—C))—>((A—>B)>(A—>0))
(A>-A)>A

Find the following :
frsferiioafe ek s ¢

An{A}

{/\, {/\}} ~ AN
A1 {a]
{r{nt}~{A}
{A{alt =1}

3. Answer any one question: 10x1=10

@~ QF6 AT TEF 7S ¢

a)
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Use truth tree method to test the validity of
the following inferences (any two): 5+5=10

eI AT SR FCH FFETS Yo uler @l
ol 9 (@ & 75) ¢

1) A<B
~(A&B)
-A&-B

i) A< B
AvB
A&B
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b)
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iii)

We shall catch fish if it rains and swim

if it does not.

We shall catch fish or swim.

v M 2 IRCE Sl g 477 93 AW I
I T OIRCE SEl Ao F64 |

I W2 49 G HO o4 |
Crumm is not guilty

Moriarty is guilty if Crumm is guilty

Moriarty is not guilty.

I (I

TR il 3 @ o =
RIERIRGEIRG|

Explain the counter-example of an
invalid argument with example. 5
YBE ARRN @30 S Jeq AF 12
I A |

Explain a model for the set of sentences
with example. 5
THIZRe SR A [ I 34 |

Apply Venn diagram to test whether the
following assumptions are mutually

consistent or not. 5

[5] [Turn Over]

589/Phil

e

(odbg 2rEe F@ WEiRe  AFefd

SRotef fee foef <ocet 2
C#A

ANnB#A

ANnC=An
(AnB)~C=~

Test the validity of the following
argument by Venn diagram. State in terms
of regions of the diagram why the

argument is valid or invalid: 5

(SAIbCaa AR e Ieha (xerel 217
9| (obiad oiee fefers e (@ Y
S SIS [T F ¢

AnNnBc~C
AuCcB
SJANC=A
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